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2.5.3 Fluid Flow Outside a Circular Cylinder (Lift)

,Domou‘m %) QNW}MKL% sorgds Ry c,sJLC»AAJ\

CWCY\{V‘WQ selukion ...

o
W(r,#) =co+ ¢y Inr + Z(A,,jr" + B,r ") sinnd,

n=1

.

hwo fo toloe for M corglants o) Rasunt

To o blain

a r

. 2
P(r,0) = ¢y In 4U (r — ”—) siné.

?lca% o ’HM‘Q omd Ao o a,\a'. ever e ww,..




Convergence theorem for Fourier series. At first, we state a theorem sum-
marizing certain properties of Fourier series:

If f(x) is piecewise smooth on the interval —L < x < L, then the Fourier

series of f(x) converges

1. to the periodic extension of f(x), where the periodic extension is
continuous;

2. to the average of the two limits, usually

5 /@) + )],

where the periodic extension has a jump discontinuity.
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